N & 0l & AF S & M M

20228 = =0l & LA sASRSW

SN SAERSH
G

Mo o
S9l: BT N34 A (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SAMERSH 17,874,002 14,053,630 3,820,372
= 5,263,323
Jl 292,668
& 1,827,740
= 10,490,271
SHe d=& HH 2= 1,878,847 3,400, 199 N 1,521,352
= 11,000
o 329,770
= 1,538,077
22 -stngal s 1,526,995 2,324,535 AT97,540
= 11,000
o= 278,420
= 1,237,575
stpgal X (A 270,825 270,825 0]
201 et | 980 980 0
01 AR 22l ] 980 980 0
O SsNaSAMXIAN/ARSG HAEH 980
308 XAHXIEHSOIA 269,845 269,845 0
08 W=sJl&otistE = 269,845 269,845 0
OBSAYE - X - DsEstn e SsEA2
X & 269,845
X -5-10- -Ss0 2Aa34A N 687,799 672,519 15,280
& 275,120
= 412,679
308 XX SHHSOIH 687,799 672,519 15,280
o= 275,120
= 412,679
08 m=sJl&otistEx 687,799 672,519 15,280
Ox-& -1 s 24agad & 687,799
= 275,120
= 412,679
U B2SANNJLAEH 24 461,191 461, 191 0
307 2iz2to| A 461,191 461, 191 0
05 QIZ2tR E 2 461,191 461, 191 0
Ol B2 AXNKAAMAYH 24 N 461,191
HHeSEXNFHAEH 2HH| 25,120 0 25,120
201 et 25,120 0 25,120
01 AP 2t 2] H| 6,380 0 6,380
O228E 3¢ 500
OReHHIAIAE S| 190,000& = 12& 2,280
OHEIIAlE orX 22| 150,000& * 128 1,800
OAGAlE oFX 2t2| 150,000& = 128 1,800
02 Z2=2=24%4| 18,740 0 18,740




2N

SRS HAH #=
S9l: BT N34 A (S &2)
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OFSPIN=1 1,200,000 * 12& 14,400
O&-ot=E2 350,000& = 12& 4,200
OgZdieaegaza 70,0003 * 23] 140
=34 JEMMIYA 2E NJANG(BEX) 22,000 20,000 2,000
= 11,000
< 3,300
e 7,700
307 glz2+ol & 22,000 20,000 2,000
= 11,000
< 3,300
e 7,700
02 QAFHAANGEEE 22,000 20,000 2,000
OZ324 JI2dAMA = NEAY 22,000
= 11,000
< 3,300
s 7,700
bt T Mo AlLGtRA X K& 60,060 0 60,060
402 RIZEXtE0| A 60,060 0 60,060
01 212t 2 AL E = (REMTH ) 60,060 0 60,060
OUMEE MAAL StRA X
1,450,000& = 45 * 70/100 60,060
SASTAMIEH DE = 351,852 5,664 346,188
< 51,350
s 300,502
Olch oFd - FMAIZ MY |4 150,000 0 150,000
307 21201 A 150,000 0 150,000
05 RIZt2IE = 150,000 0 150,000
O0IHA SAHHAZHEH2 S XA 150,000
2S O3tOI0l DAtME S8 A 16,000 0 16,000
201 Let24d] 16,000 0 16,000
01 At 2teltl 15,600 0 15,600
OZs Ot 2z 15,600
02 =224l 400 0 400
OgE ot3tdiol 2= 400
SEME BSEBHE g8 100,000 0 100,000
201 Let2d] 100,000 0 100,000
01 At 22l 100,000 0 100,000
OsSttE ss2dE g2 100,000
Seldty |4 6,852 5,664 1,188
202 044l 4,752 3,564 1,188
01 = LH 4 di 4,752 3,564 1,188




FN: sAESHFSH
M e dz=g MH 2=
Sel: SABAYUAE IR CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
OYNH2LR =& 4,752
203 YR =2l 2,100 2,100 0
03 AIMFAH S Z=AY| 2,100 2,100 0
OSAERS AMEX 2,100
Xo BCZoH(OhM )XY (REAY) 79,000 0 79.000
< 51,350
[ia 27,650
307 21201 A 79,000 0 79,000
= 51,350
s 27,650
02 It S AIHE L 79,000 0 79,000
OXY ZEEdHRY (A2 )XJAAY 79,000
< 51,350
i 27,650
SASAY 23t 15,679,316 10,383, 195 5,296,121
= 5,185,540
J| 292,668
< 1,468,340
s 8,732,768
W= A DBEE S 1,552,300 1,940,450 A 388,150
J| 171,000
S 130,735
s 1,250,565
A DSE MAAE S 427,600 247,500 180, 100
Jl| 171,000
< 77,000
s 179,600
402 RI2EX=01 M 427,600 247,500 180, 100
J| 171,000
< 77,000
s 179,600
02 QI EAILSEZ (01X S) 427,600 247,500 180, 100
Ot NSHMLAIL S 427,600
J| 171,000
< 77,000
[ia 179,600
ot SESATUM X 97,000 104,100 A7,100
< 29,100
[ia 67,900
402 RIZ2EX20l ™ 97,000 104,100 AT,100
< 29,100
e 67,900
02 22t X2 AL E = (01X THE) 97,000 104,100 A7,100
Olte SESHIM XA 97,000
< 29,100
fia 67,900




N SAHSFSENY
B SABMY B3
SRl DM AD|B Ry (B9 ®R)
SA - BB B (EH) - NRAY - BES of & o San HI D2
== M2Llol JIsEXH XA 200,000 139,000 61,000
402 212t Xt=01 & 200,000 139,000 61,000
01 Q=AM E X (KA ) 200,000 139,000 61,000
Ol= JIs8XM X& 200,000
-t M2 % gAId JIsdi M K& 200,000
ot S EZY MAEH X 93,500 93,500 0
£ 23,375
[Ea 70,125
402 It Xt=01 93,500 93,500 0
= 23,375
[Ea 70,125
02 QX EAMAEE(0IATHE) 93,500 93,500 0
O =5ZEz dadyl X 93,500
= 23,375
s 70,125
o= SEEY 300,000 234,960 65,040
307 21201 & 200,000 134,960 65,040
02 I BAAMHEE 200,000 134,960 65,040
OAtLE BHALE S
100,000& * 1,0008 = 50/100 50,000
Ooua sk X 150,000
SARLE=DN 20& * 5,000,00004 * 40/100 40,000
-t S X 20& * 750,00004 = 40/100 6,000
-=s0t3X 13& = 20,000,00000 = 40/100 104,000
402 It Xt= 01 ™ 100,000 100,000 0
01 UATZALLE (XA ) 100,000 100,000 0
OL==SSHA (ML, =501
10,000,000& * 20ha * 50/100 100,000
YES SIIHXR (D220 430,000 430,000 0
402 QI2tXt= 01 ™ 430,000 430,000 0
01 (It 2 AL E X (KA R) 430,000 430,000 0
O%EE sIAHXNE (B=Z20F) 430,000
A0 EAZHOIN
20,000,000& = 25CH = 50/100 250,000
- AZAXE 14,000,000 = 20CH = 50/100 140,000
-S4 XA
400,000% = 200CH * 50/100 40,000
tstaE HMEs SENE 4,200 0 4,200
= 1,260
s 2,940
402 212t A= 01 & 4,200 0 4,200
= 1,260




A sAERESDH
B SABMY B3
ol B MM BE Y (el:de)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 2,940
02 BIZtXIEANYEX(0OIETHHA) 4,200 0 4,200
O=saYy &S X3 4,200,000 4,200
& 1,260
= 2,940
A 2 245 2,381,095 2,433,744 A B2,649
= 23,600
J| 57,800
=} 51,645
= 2,248,050
A MAD|BE &= 1,883,345 2,211,719 N 328,374
307 QI2t0| ™ 1,272,580 1,220,309 52,271
02 QI2tAAMAIE E =X 1,272,580 1,220,309 52,271
O A MAX & 355,893
~RHNEE PRI X2
333,120,000 50/100 166,560
~BYESE FNE X
222,080,000 50/100 111,040
-l=e CIRHIOIE K&
45% = 2.300,0000H 50/100 51,750
-2 &2 IEUAY
53,086,000 50/100 26,543
OFSZH HhEMA X
25,000& * 2,700 50/100 33,750
Od0 detHE=ss MAXH
730,000€ * 200ha * 70/100 102,200
OQEsE & X&
5,000€& = 108,000% 50/100 270,000
O%SH |02 MMAXE 493,237
- AMAST] K&
7,0008 = 4,0304 50/100 14,105
- - 2AH0HAHYE 24X XI&
70,000 * 7,36074 50/100 257,600
~2EbY X
36,000 * 7,974 50/100 143,532
“DFEXN=UXS
1,560 = 100,000CH 50/100 78,000
OFEE ME B2AY
5,000& = 5,000 70/100 17,500
402 SI2FXHE0| & 610,765 991,410 A 380,645
01 BIZtXIE ALY E X (KM TH ) 610,765 991,410 A 380,645
OHIJIE st A X XA
22,000 = 16,800m 50/100 184,800
Oduzz2 U458 sIIH N 150,000
-AR2 H2HED X
6,000,000€ * 30CH 50/100 90,000




M-S (3AH) - MRAS

BHYS

Off &t 24

=
i

2

-“DFAXI KL
4,000,000&

“AFNEDI X
2,000,000&

OJistdl s HIAXA
1,500, 000&

OIS A T X2 AY
11,548,250

*

20CH = 50/100

20CH = 50/100

60CH = 50/100

40ha * 50/100

40,000

20,000

45,000

230,965

A2
o
og

2O MAALE X2

EUNL

95,500

28,650
66,850

132,500

A 37,000

402 RI2HX=01 M

EUNE

95,500

28,650
66,850

132,500

A 37,000

02 QX2 AL E X (0 A THE)

Oxed =Y AUHLAL

s e §

— =

Mo

95,500
95,500

28,650
66,850

132,500

A 37,000

AL oldXolS

s83 K&

H X

18,500

7,400
11,100

18,500

402 2I2tXt=01 &

Il

HJ

18,500

7,400
11,100

18,500

02 QAT 2AMLEE(0IXTHE)
OAM&E20 duxolessst (&

o

ZALY)

y

M

18,500

18,500
7,400
11,100

18,500

DU THEHAIE XI &

H X

88,500

35,400
53,100

46,750

41,750

402 It Xt=01 ™

Il

M

88,500

35,400
53,100

46,750

41,750

(=)
v

02 FHEAEEZ (01T S)

OXNFHIJIS THHHAIE X &

I_

X

88,500

88,500

35,400
53,100

46,750

41,750

ISl SxMEX(2M28) AL

M

21,750

6,525
16,225

11,250

10,500

402 RI2FX=01 M

EUNE

21,750

6,525
16,225

11,250

10,500

=
e
v
!
it
T =
12
H
P
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o
=
o

O
S
0o
o

il
1
i
0
B>
o
>
oy

)R-

21,750
21,750

11,250
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FN: sAESHFSH
Hu: SABMY B3
el A FEH L (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 6,525
s 15,225
A& 20l & CHSHALY 59,000 28,500 30,500
= 23,600
< 10,620
s 24,780
402 2I2H X201 M 59,000 28,500 30,500
= 23,600
< 10,620
s 24,780
02 QIZEHEAISEZ (01X S) 59,000 28,500 30,500
OAME20 SUat(de) X 59,000
= 23,600
< 10,620
[ia 24,780
ANXH SSAA 180,000 0 180,000
307 21201 A 180,000 0 180,000
02 QIZtE M AHEE 180,000 0 180,000
ORUE=SE ELHEM XNBA
360,000,000& = 50/100 180,000
ANEAUICTESSEHAAS 30,000 0 30,000
J| 15,000
< 4,500
s 10,500
402 RI2EX=20| A 30,000 0 30,000
J| 15,000
< 4,500
s 10,500
02 LA TEALEZ(0IETHR) 30,000 0 30,000
OAEJ0 ICTE=SE EAAY 30,000
J| 15,000
< 4,500
s 10,500
SINLESHHAZS ELSSNLAX A 4,500 0 4,500
< 1,350
[ia 3,150
402 RI2HXt20l ™ 4,500 0 4,500
< 1,350
[ia 3,150
02 2IZt 2 AL EZ (01X TH ) 4,500 0 4,500
OELEH ML 4,500
< 1,350
i 3,150
EX . ES3Es =4 1,909,497 1,685,106 224,391
= 2,640
J| 63,868




2N
X ZH -
L= B

el

ol o
=l

fa)

]

t

=4

- O O
am oz 40
tor 19 o
N
ol

Ot
Jo

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 438,210
s 1,404,779
NEESA=S |4 80,000 80,000 0
< 28,000
s 52,000
402 RI2FX=201 M 80,000 80,000 0
< 28,000
s 52,000
02 It EAILSEZ (OIS ) 80,000 80,000 0
Ogd NEEs A= 84 80,000
< 28,000
s 52,000
ola S4AXI 964,000 719,000 245,000
307 21201 A 259,000 209,000 50,000
02 HAHFHAANGEEE 259,000 209,000 50,000
OQlah MAXTH XI& 259,000
—QI & I ETH 18,000,000 = 14l * 50/100 9,000
—QlA M E 20,000,000 = 15ha * 50/100 150,000
—QI&THEY = 200,000,000& = 50/100 100,000
402 RIZEX=20| M 705,000 510,000 195,000
01 2I2EH 2 A B & (KM TH &) 705,000 510,000 195,000
OzEd ey HEA aiItEAE
60,000,000 * 2.5ha = 70/100 105,000
Ol aHItEAIE
10,000,000& * 120ha * 50/100 600,000
oler XIS &M X3 66,690 40,681 26,009
< 20,007
s 46,683
402 2I2H X201 M 66,690 40,681 26,009
< 20,007
s 46,683
02 QI EAILEZ (OIS ) 66,690 40,681 26,009
OzEd AYXASIM 22 66,690
< 20,007
[ia 46,683
Olar MAAIE SUSHALY 143,876 128,321 15,555
J| 57,550
< 25,898
e 60,428
402 RIZEX201 ™ 143,876 128,321 15,555
J| 57,550
< 25,898
e 60,428
02 RIZEXt 2 AL EZ (OIS ) 143,876 128,321 15,555




FN: sAESHFSH
M sASMY 28t
©9l: SX-S3ES 84 (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OQla MAAIE s 143,876
J| 57,550
< 25,898
s 60,428
etz 4 64,000 64,000 0
402 RIZ2EX201 ™ 64,000 64,000 0
01 U2 EALE X (XA R) 64,000 64,000 0
o2+ s X&
128,000 * 1,000ha * 50/100 64,000
A ALK 168,372 168,372 0
402 RI2EX=20l A 168,372 168,372 0
01 2IZEt 2 A B (KM ) 168,372 168,372 0
OUSH MAXH 336,744,000& * 50/100 168,372
HAANLREUS X 15,795 0 15,795
J| 6,318
< 2,843
s 6,634
402 RIZ2EXt20l 15,795 0 15,795
J| 6,318
< 2,843
[ia 6,634
02 RIZt X2 AL EZ (01X ) 15,795 0 15,795
OBAAELB U XA 15,795
J| 6,318
< 2,843
s 6,634
HHEZ2e et 5,184 5,184 0
202 Odl 5,184 5,184 0
01 = LH 4 Hi 5,184 5,184 0
ORNEXYR =& 5,184
== MHolE2& XI& 345,400 466,758 A 121,358
= 345,400
301 LEXZ 345,400 466,758 A 121,358
= 345,400
12JEEd= 345,400 466,758 A 121,358
O=s&H2MAHEE K& 345,400
< 345,400
SoiotMEE ZEAL KA 5,280 6,600 A 1,320
= 2,640
< 792
[ia 1,848
402 RIZ2EXt20l 5,280 6,600 21,320
= 2,640
< 792




2N
X ZH -
L= B

el

]

t

=4

ol o
=l

" oM o

Jmrz o
tol [ o
N
tol

Ot
Jo

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

o 1,848

02 U EALEZ(0IETHR) 5,280 6,600 N 1,320
ORdiOrEs=ES Z2AlE XEAAS 5,280
= 2,640
= 792
[ia 1,848

QU MAH B JINMH 23 30,900 4,690 26,210
< 9,270
s 21,630

402 RI2tXt20l ™ 30,900 4,690 26,210
< 9,270
= 21,630

02 2IZt 2 AL EZ (01X TH ) 30,900 4,690 26,210
O My B2 IR 23 30,900
< 9,270
s 21,630

IISs YRAY IIPEY 20,000 500 18,500
< 6,000
s 14,000

402 QI2H X201 M 20,000 ,500 18,500
< 6,000
s 14,000

02 QI EAILEZ (OIS ) 20,000 ,500 18,500
OJlsd 2&TAY Jlgtxd 20,000
< 6,000
[ia 14,000

A A0LE =& AlEAY 5,952,440 ,800 5,941,640
= 5,120,000
< 744,000
[ 88,440

CSXNACE=Y AIEH 29 650,000 ,000 649,000
= 500,000
< 150,000

308 XXM SO A 650,000 ,000 649,000
= 500,000
< 150,000

N 3IN2SUHUS3AEAE A 650,000 ,000 649,000
OLXNAGESY AIYHZ2Y 650,000
= 500,000
< 150,000

LR ADIESY AEAY(XHE) 5,214,000 ,800 5,204,200
= 4,620,000
= 594,000

403 A X EHHS =0l A 5,214,000 ,800 5,204,200
= 4,620,000
< 594,000




FN: sAESHFSH
B SABMY B3
Chel: ©X ADE s9 AlgEAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 S 2S0CHet A =& 2 & AL H 5,214,000 9,800 5,204,200
OLXNAGESY AEAY 5,214,000
=2 4,620,000
< 594,000
SXNANESHAZEAY SX0H 88,440 0 88,440
401 Al HIZ 2018 88,440 0 88,440
01 A& HI 88,440 0 88,440
OLXNAGGESHAH ALY S X0 88,440
s S&s /8 NB(BX) 260,667 3,869,916 A 3,609,249
= 78,200
s 182,467
YEsH2 TVELE SE2XE 17,000 17,000 0
< 5,100
= 11,900
307 21201 A 17,000 17,000 0
< 5,100
[ia 11,900
02 It S AHE L 17,000 17,000 0
OZssdtEavEasd g2X& 17,000
< 5,100
e 11,900
=W ASEA I XZALY 12,000 12,000 0
S 3,600
i 8,400
307 glz2tol & 12,000 12,000 0
< 3,600
s 8,400
02 It M AHE L 12,000 12,000 0
O3UABSHEAIZ &It KNAAS 12,000
< 3,600
[ia 8,400
SA2 AU AMOHY BEX 16,667 12,000 4,667
< 5,000
s 11,667
307 glz2+ol & 16,667 12,000 4,667
< 5,000
i 11,667
02 HAFHAANFEE 16,667 12,000 4,667
Ostte &40HHE &= 16,667
< 5,000
s 11,667
42 =42 ZTEW A 35,000 26,320 8,680
= 10,500
[ia 24,500
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